SHOW ALL WORK CLEARLY. NO WORK = NO CREDIT.

Points are as marked.

1. Suppose a corporate bond has the following characteristics:

Coupon Rate:
12.0%

Years to maturity
  15

Market price:
$1185

Interest payments are semi-annual.

The next coupon payment is due in exactly 6 months. 


Compute the Yield to Maturity on the bond.

[4]
Answer: _________________

2. Suppose you purchase a bond today for a speculative investment with the plan to hold it for four years and then sell it. The bond has a coupon rate of 12.0% with semiannual payments and 15 years to maturity. (The next interest payment is due in exactly six months.) The bond is quoted in Barron(s with a Current Yield (listed in the Wall Street Journal as Cur Yld) of 9.2%. You are willing to bet that interest rates will change during the next four years to the extent that you will make at least 11% as an average annual holding period return on this bond. For this to turn out to be true (that is, for your average annual holding period return to be at least 11%), what is the maximum yield to maturity that can exist for this bond in four years when you intend to sell it?

[6]
Answer:______________  




3. Suppose you are considering whether or not to purchase shares of stock for the ABD Corporation. An annual dividend of $1.25 per share was paid yesterday, and you expect that it will be a full year before the next dividend is paid. The required return is 12% and the expected constant annual growth rate is 4.5%. What should be the market price for this stock?

[4]
Answer: ________________

4. Suppose you are considering whether or not to purchase shares of stock for the QED Corporation. You expect the next annual dividend to be $2.45 per share. You expect that the annual dividend will grow by 12% per year for three years (to include D4) and by 6% per year after that. QED has a β of 1.4, the risk-free rate is 3.5%, and the expected average risk premium on an average stock is 5.6%. What should be the market price for this stock?

[6]
Answer: ________________

5. You have estimated the following subjective distributions of returns for the assets shown for the coming year in three possible states of the economy.

                                              RETURNS

Economy
Prob.

A

 B

T-Bills 

Bad

.15

 4%

    -3%

   4%

Fair

.50

 10%

   5%
 
   4%

Good

.35

 15%

   18%

   4%

Asset A is a well-diversified portfolio composed of 100 stocks.  Asset B is a portfolio of a few risky investments. 

a.
Complete the following table:  [15 Pts.   -5 Points for each wrong or absent answer -- Zero minimum]

	       ASSET-->
	    A    
	     B
	  T-Bills

	Expected Return
	
	
	

	Standard Dev. of Return
	
	
	

	Correlation with Asset A
	
	
	

	Correlation with T-Bills
	
	
	

	Beta Coefficient
	
	
	


b.
Suppose you want to form a portfolio from any or all of the assets listed above such that your portfolio has a beta of 2.5. What would be the rational composition of your portfolio?

[5]
Wt in A: _________         Wt. in B: ___________     Wt. in T-Bills: __________

c.
Suppose you want to hold a position in Asset A such that the expected return of your position is 12%. What would be the composition of your portfolio?

[5]
Wt in A: _________         Wt. in T-Bills: __________

6. Suppose a stock has a beta of 1.20. Also suppose that the current risk-free rate is 6% and that the appropriate market risk premium for the CAPM is 5.6%.  Now suppose you buy this stock today and hold for a year, then sell it at a price that reflects a 15% rate of return for you for the year. Would this be evidence that the stock had been inefficiently priced (violated the efficient markets hypothesis) when you bought it? Justify your answer in detail. [5]

7. Suppose the required return on Amazon.com’s common stock was 20% one year ago but it is 12% today. Using what you know about portfolio theory, beta, and the SML, list and briefly explain all of the factors that could account for this change. [5]

8. How do you think the position of the SML has changed since summer? How has this change affected the cost of capital for the average US company? Justify your answer with appropriate arguments based on recent events and portfolio theory. 

9. You need to determine the appropriate discount rate to use to evaluate an average-risk capital project. Your company is financed with debt and common stock, with a market capitalization of $25M in short-term liabilities, $125M in long-term debt, and $200M in common equity. This capital structure has been determined to be optimal for this company. The marginal tax rate is 34%.

Your company currently has an issue of long-term bonds outstanding with 12 years remaining to maturity, a 11.3% coupon rate (semi-annual pay​ments) and a $1,000 par value.  The next coupon payment is due in exactly six months. These bonds are currently selling for $1,215 in the market. Your investment banker feels that new 20-year bonds could be sold at par at the same yield to maturity as the existing bonds. Your company also currently has a short-term bank loan for $25 million (7.0% rate) that is used to carry the company through the peak selling season, after which it is paid off within a few months. 

Your common stock is not publicly traded, so you don't know your company's Beta.  How​ever, you have located a company that is very similar in terms of opera​tions, and their publicly traded stock reflects a Beta of .80.  The other company has no long-term or short-term debt, and its marginal tax rate is also 34%. You believe that the appropriate risk-free rate and market risk premium to use in the CAPM are 4.5% and 5.6%, respectively.

  
Given this information, compute the weighted average cost of capital for the company.

CLEARLY LABEL ALL COMPUTATIONS. IF I CAN’T READ IT, IT’S WRONG. 

Multiple Choice: 1 Point per correct answer. Mark you selection on your Scan-Tron Answer sheet.

1. The realized rate of return on any corporate security will always exceed the risk-free rate, according to portfolio theory. 

2. If the expected rate of return on a bond is greater than the coupon rate, then the bond will trade at a premium. 

3. As the rate of return that investors require on a company’s securities decreases, its cost of capital decreases. 

4. The expected return on a U.S. Treasury bond will ALWAYS equal the actual rate of return. 

5. Only corporate bonds have interest rate risk. U.S. Treasury bonds are totally risk free. 

6. Diversification reduces the impact of the risk of any single stock in a portfolio. 


7. A major difference between systematic and unsystematic risk is that unsystematic risk is primarily caused by events that tend to affect only a specific company, whereas systematic risk is caused by events that tend to affect all companies. 

8. In a well-diversified portfolio, systematic risk is zero. 

9. The market for a stock is said to be in equilibrium if the expected return on the stock equals the required return. 

10. In a world of no inflation and no risk, rational investors would not require any interest to lend their money to someone else for a period of time. 

11. The correlation of the rates of return on two assets measures the degree to which the two assets tend to vary with each other. 

12. There is a direct relationship between the beta coefficient of a company’s stock and its cost of equity. 

13. A prudent financial manager should always try to minimize the company’s beta coefficient. 

14. Internally generated funds (retained earnings) are always the most desirable source of capital because they have the lowest cost of any source of capital. 

15. The costs of the various sources of capital used by a company are computed based on the average rates of return earned by investors in the past. 

16. The realized return on a stock investment is the sum of the dividend yield and the capital gain. 

17. An efficient portfolio is one that has no risk. 

18. According to the Capital Asset Pricing Model, the choice of which risky portfolio to invest in depends on the individual investor’s attitude toward risk. 

19. If two assets have a perfect negative correlation, they can be combined to form a portfolio that has zero risk. 

20. Beta is the slope of the Capital Market Line (CML). 

21. A central challenge to the Efficient Markets Hypothesis (EMH) is the existence of stock market anomalies. 

22. According to Peter Bernstein, “Because beating the market s becoming increasingly difficult, fewer and fewer people undertake the effort.” 

23. According to the article Market Efficiency on the Dean LeBaron site, Burton Malkiel concedes in his newest book that recent research casts serious doubt on the Efficient Markets Hypothesis. 

24. According to the Investor Home article on market efficiency, efficient markets depend on market participants who believe the market is inefficient and trade securities to outperform the market. 

25. In the article on the Weighted Average Cost of Capital for space tourism, the author estimated a postive Net Present Value for the venture as long it is financed with at least 20% debt (that is, financed 80% equity and 20% debt). 

26. According to the Shareholder Value 100 article, the primary indicator of the successful efforts of the company’s managers to increase shareholder value is the stock’s risk premium. 

27. Economic Value Added (EVA) is intended to show the dollar amount of wealth a business has created or destroyed in each accounting period. 

28. Economic Value Added (EVA) is defined as Net Operating Profit After Tax less all cash payments made to investors, including dividends and interest payments. 

29. In any given time period, if Security A is perceived by investors as having greater nondiversifiable risk than Security B, then according to the Capital Asset Pricing Model, Security A’s required rate of return will always be greater than Security B’s required rate of return. 

30. If two stocks have the same beta coefficients and the same expected rates of return, then according to portfolio theory they should trade for the same price in the market. 

Answers:

1. 9.64%

2. 6.59%

3. $17.42

4. $53.34

5.

.1085
.0835
.04



.03664
.0758
0




.9752
0


0 0

1 2.018

b. 2.5 = Wt in A  -1.5 = Wt. In T-Bills

c. 1.168
-.168

9.
Cost of Debt = 8.42%   Cost of Equity = 10.82%   WACC = 8.81%

True/False:

1. F

2. F

3. T

4. F

5. F

6. T

7. T

8. F

9. T

10. F

11. T

12. T

13. F

14. F

15. F

16. F

17. F

18. T

19. T

20. F

21. T

22. F

23. F

24. T

25. F

26. F

27. T

28. F

29. F

30. F
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